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General Instructions to Candidates : 

• There is a 'cool-off time' of 15 minutes in addition to the writing time of 21h hrs. 

• You are not allowed to write your answers nor to discuss anything with others 
during the 'cool-off time'. 

• Use the 'cool-off time' to get familiar with questions and to plan your answers. 

• Read questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question. all the sub-questions must be answered from the same 
question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non-programmable calculators are not allowed in the 
Examination Hall. 
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e m1©~1~ <rul2lCDJ<mm1m ruJ06112l 15 12l1m1g 'cful® 630nD 6)6)5o' ~6'T'raOCDJ1<ll1d}6)Jo. m'D 
<ru l2l CDJ a.rnfi O.!l..JOB .\ 61ID u3 ca6) ~mm <ll o nfil \PJ cm 00 mo, l2l \1J ~~OJ <ll J 12l 0CDJ1 ~(R)CDJOJ1m112l CDJ o 

mscmmoomo ruos1~. 

• ~cmmm61mu3 nfil\P6cmJcmcm1m 12l6mJ O.!l..JOB.\67IDu3 L®<lDOn.Jl©<),lo ruoCDJ1d}6)6TI)o. 

• nfil~O O.!l..JOB.\61ffiu3d}6)6o ~<mm<llo nfil\P6cm6TI)o. 

• 63<ll6 o .!l..JO B .\ m cru© ~mm <ll6) l2l !PJ cmo® 61cmm616mlIDS 6 cmm 6 ca, \P16lml»oma 

~ruo .!l..JOB .\ 67ID~6 o crmo cm o .!l..JO B .\ m cruro1 ma m1m5 cm 61cm 61cm©6)6mlIDS6 Od}6)6'T'racmom>. 

• cfu6TI)ca6) cful 3e.16 c&u3, .!l..J1Lcm6\ffi u3, L(f) On.CJ cfu u3 omcmlru ~<mm© O ru~o1 ma cm 61 cm 
~ 6'T"g 0CDJ1(()1 d}6) 6TI) o. 

• O.!l..JOB.\67IDu3 12le.JCDJO~cmm1e.i&o mmac&1CDJ13&EiTN'. 

• ~OJ(R) .\12l6 ~ cru.o eJ a.rnfi CT\) l2l OJOcfu .\ 61ID u3 6) cfu 05 6 d}6)6TI) o. 

• OLriJ OL (/) 012l 6 cfu u3 6) .!lJ C!Y 0 m 0 cfu 0 <mm cfu 0 ma d}6) 6 0 eJ g 0 6 cfu u3 63 \Pl 6)cfu CDJ 6 ~ 63 (() 6 
@e.JahOL506TI)1ah ~ri.Jcfu(l)6TI)OJ&o ru©ic£M:10n.D02:!1m8 ~riJOCDJO(f)1d}6)60JOcW ri.JOS1~. 
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1. Royal Insurance Company Ltd. decided to computerise all its branches in Kerala to 

provide better services to the customers. 

Identify the external environment the company has made use of. (Score: 1) 

2. Mr. Siva Kumar, the sales officer of a fim1 maintains direct contacts with all the 

employees in his department. 

Identify the level of management he belongs to. (Score: 1) 

3. In the opinion of Henry Fayol, the management expert, each employee should be 

received orders from one superior only. 

Mention the management principle referred here. 

4. One of the following is not a feature of planning. Spot it. 

(a) Pervasiveness 

(b) Mental revolution 

(c) Continuous process 

( d) Flexibility 

(Score: 1) 

(Score: 1) 

5. In connection with the Christmas celebration the employees of National Bank formed 

a small group, who organized a feast and other entertainments. 

Name the type of organization referred here. 

6. From the following choose one which is not a part in the process of organizing : 

(a) Division of work 
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(b) Grouping of jobs 

( c) Co-ordination of activities 

( d) Scalar chain 

2 

(Score: 1) 

(Score: 1) 



1. ~oJC]©O.oo»Od)6)<J8<86)' 6>1Zl~6>~3 acrurumo melifhJcm(1J)1mo<n>1, aoo<n>ro3 @Cl&rfrt60ct&rn) 

cfumJm1 aca,m~cmm1G>~ crmru©66>S (J()::>ruca,<J8 cfumJ,,\l3G>G>orn) G>.!l..li:g>6cm(1J)1m6 

(1J),©61ZlOffi1d)6)6cm6. 

11(8(15) 6 6llJO n.0 ,,\ oJ©1 (1J) crun1 (1J)1<n> om5 i£h mJ ml @ClJ16>S ~oJ(]CQ)O(J)l~m) n4)cm6 

(1J)1©1~o1<n>6cfu· ( m>c.e,:im : t) 

2. 9©J crunooJmcmm1G>~ G>cru<n>1<03rn) 9oonicruoomi L(J()l (J()lruca,JIZl::>ro CTmC]IJn.OCIDID1G>~ 

cw1~0©36G>IZl~G>~ nm~oo ~irumd)6)0©61ZlOWJo m~ 6llJmwo crunooJ1~136~· 

crmaiJn.00 IZlOC]mmG>IZl~G>~ 11(8(15)6 (1J)~cmm1m3 @u8G>~s6cm6G>rucm6 cfuG>6ramlID6cfu. 

3. 

5. 

6. 
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( m>c.&::>m : 1) 

IZloammG>IZl~ u ru1Bu5wmo<n> G>n.0C1301 n£:C]mJ:J~1G>~ crm©1LoJO<n>CIDID1<03 90(]©0 

~irumd)6):J©ffi6o 9©6 (]1Zl~J<EB,,\O(J)O'illlffi1©3 mlcmJ 12lOL(1J)(]IZl @mlID©ClJ6ifhu8 

cruJ1ifh©1d)6)oru2. 

@ClJ16>S LoJ(1J)1oJOB1~©1d)6)J(ffi 1Zl0C]ffim6>1Zl~ u (1J)(1J)Jo n(86>(1J)(ffi6 C](1)6)J6)~56mlID6cfu. 

(a) Pervasiveness 

(c) Continuous process 

(b) Mental revolution 

( d) Flexibility 

Lifhlrn)IZlrn) ~(]ne.JOrfr16mC]~osm6611Jmw1~ morfr16ll)ro3 6llJoID>1G>~ 

6> .!l..I01<n> L(J)l ~6 6raOd)6) 6 c:h<n>J o, <rmiClJ© 6 6>5 (] m (1J) ~ (1J)JCIDID1<03 

cfu~OoJ©1oJOS1cfu~60 cruone.iS1d)6)6cfu<DJJIZl66raOCQ)1. 

( m>c.e,:ic& : 1) 

~irumd)6)oro 9©J 

cruB,,\<DJJo IZlRJ 

n(8(1J)6(1J)©o cruone.iosm1Zlom5 @ClJ1G>s crul.!l..l1~1~1©1d)6)6cm6>(1J)m5 (]©6lJG>~SJmlID6ifh. 

( m>c.e,:im : t) 

(1J):J6)!P G>cfu::>SJ cmm1m1d)6)6 cmru<DJ1<03 m1cm6o cruone.iosmo nm cm LoJLcfu 1<DJ<DJ66>5 

© 0(1) Ill~ ocmman 6) (1J) ©6>61IDIDS 6 d)6)6 cfu : 

(a) Division of work (b) Grouping of jobs 

(c) Co-ordination of activities (d) Scalar chain ( m>cc&::>m : 1) 
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7. The newly established Technical University in Kerala wants to appoint 100 data entry 

operators. 

(a) Suggest a suitable test to be conducted to select the candidates. 

(b) Justify your answer. (Scores : 2) 

8. Observe the fr) II owing methods of communication : 

(i) Upward communication . 
(ii) Infomial communication 

' 
(iii) Horizontal communication 

(iv) Diagonal communication 

(a) Spot the odd one. 

(b) Justify your answer. (Scores: 2) 

9. Identify the management function which denotes the process of ensuring that actual 

activities confo1m to planned activities. (Score : 1) 

10. Select the wrong pair from the following : 

(a) Interest Debentures 

(b) Buildings Working Capital 

(c) Mix of debt and equity Capital Structure 

(d) Dividend Share Capital 

11. Complete the series : 

(a) Treasury Bills~ 14 to 364 days 

(b) Call Money~ ('?) 

(c) Commercial Paper~('?) 

(Score: l) 

(Scores: 2) 

12. Colgate Palmolive Ltd. markets Colgate toothpaste in different colours with varying 

features. 

(a) Point out the element of the product mix refened here. 

(b) Explain it. (Scores: 2) 
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7. Odh©~amnlm8 n.JJ<mlm><mom>l cmoon.Jlaj cruooffh<mldh cru&iqidhe.iouooe.i 100 cwogo 

n{j)CTOLSl 630~QOOg!Pcrul6)ITT 6)@(l)6)6TOYIDSJcOOOcrn <m1©JIZlOITTlajl©lcOOJm>6. 

9. 

(n{j)) ~OBJiO(f)O@®LOldh@~ 6)@(l)6)6TOYIDSJ.cOOJ.CTn<mlm msarnnoruJ,CTn ml3ITT6Q<Dl0@'<!_,\1Zl0<D> 

6>s<;J;H n(B6)<mm>J. mlmm~uolc00J.dh. 

(i) Upward communication (ii) Informal communication 

(iii) Horizontal communication (iY) Diagonal communication 

(n{j)) aruol~& ml~cOOJ,m>afi dh@6ramTmJ.dh. 

(611Jl) ~mlm©o CTUOillldh©lcOOJ.dh. ( crue.&o(3m) : 2) 

i:n>LOo©afiLO ml©qjru>Gmo 

n.JOe.JlcOOJ. m>}, Q6ra0 n{j)m>J. cm1mlajoli:n>6crnrn1mo<Dfl Ln.Joi:n>o(f)1c006crn 12loomm6>1Zl~ v 

w© IZJ2)Q IZl@ <mm6 dh6)6ra mnn 6 dh. ( crue.&:>© : 1) 

Ui) Interest Debentures 

(b) Buildings Working Capital 

(c) Mix of debt and equity Capital Structure 

(d) Dividend Share Capital ( crue.&o© : 1) 

11. 611Jmruo dh@6ramnnl n.J2col~lc006dh. 

(a) Treasury Bills----) 14 to 364 days 

(b) Call Money-----) (?) 

( c) Commercial Paper-----) (?) 

12. Qdh:>u8a(f)g n.JOOIZlOe.Jlru e.J112l1gru) n{j)m> dhmJITTl ruJi<mJioU<m67313~0<D> ml067313Q~OSJ.o 

rn.>J~oruamnnosJ,o dhlsli:n> Odh:Ju80(f)~ slcmzifon.J<;J;H ruln.JGmmo msmnnJ,mJ.. 

(n{j)) ~m3t;H(JT) f1llL<R>Gmmlml6)eJ n(B®J. neJSdhlZl06ID @rul6)5 Ln.J<mln.JOBlajl©lcOOJ,(JT)afi ? 
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13. The Industrial Policy 2003 formulated by the Govt. of India was to highlight some 

objectives. Name any four such objectives. (Scores: 4) 

14. State any four points that validate management as a science. (Scores: 4) 

15. F.W. Taylor, the father of scientific management developed various techniques to 

improve performance of business firms. Explain any four of such techniques. 

(Scores: 4) 

16. The Board of Directors of National Aluminium Co. Ltd. decided to implement the 

following plans in their production department during the year 2014. 

(a) Increase the production by 10% in the year 2014. 

(b) Only ITI certificate holders should be appointed. 

(c) All employees should punch at the factory gate at 8 a.m. 

(d) Newly selected employees should be given one month training. 

(1) Classifies the plans adopted by the National Aluminium Co. Ltd. 

(2) Establish the reasons for such classification. (Scores: 4) 

1 7. Mr. Radhakrishnan, the Branch Manager of a nationalized bank often share some of 

his work to his immediate subordinate Mr. Rajendran, the Assistant Manager. This 

helps Mr. Radhakrishnan to spend more time to mobilize their targeted deposit. 

(a) Name the element of organization applied by Mr. Radhakrishnan. 

(b) State the various steps to be followed in the process involved in it. 

(Scores: 5) 
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13. !1.fle.i e.i dM:ic\ 6mlu5 ~w ©cmmlc000 ~6 tEh t'l{j)cm ~ O<J <.R>a cmm os6 tEhl slw 0611) @om cm <TU<8c00om 

2003-Ei>e.i O.Jc\(lJ<TUow mwo mln.Jidhml~cm. mofl6>s <TUl.!l.J1t;H1c006<m n(86>cme»1e.i6o moeJ 

14. 12lOQITTEQ6>1Zlo'A ... 63(1)6 <.R>OrrULcmllloGTI) t'l{j)cm ~<.R>Wo <TU!lOn.J1cOO&<mcm1m moe'.i QJOB(f)cm1-

dhu5' m1m<mID6dh. (crucc&:>mcru : 4) 

15. 611Jl<TU1mm3 <TU!l::>n.Jm6m3~66>S Ln.JOJmcmmmo 6>2l~6>t;HS6<mID6cmcm1mow1 <.R>OcruLcmiw 

lllOQITTEQ6>1ll~6)o'A n.Jlcmocii t'l{j)m) CIDCI01W6>t;HS&cm t'l{j)nD. (\J)mJ~1W6. 6>S<D>e.i© .!l.JleJ 

<TUlLcm6mlu5 o.11dh<TU1~ c006 cfh(l]) 6 6TEOW1. (ID(I rolID(l)rorn>le.!J ~ mo eJ <T\.) ll®6mlu5 

(crucc&:imcru : 4) 

16. m::>rr116ll)m8 CIDCle.1612l1m1wo dhm.Jml efllll1g<U>16'lo'A cwwo~m a611Jomru> tEhlsl 2014-<03 

(ID(IOJ(l)66>5 ~m8t;HOBITT ru1@0(f)rorn>1m8 cmo6>Y't;HOW6cm n.J<IDcm1dhu5 ITTSt;H1eJOc006(ll)cm1m 

cmim&IZl::>ITT6>1ZlS6<mID6 : 

(a) Increase the production by 10% in the year 2014. 

(b) Only ITI certificate holders should be appointed. 

( c) All employees should punch at the factory gate at 8 a.m. 

(d) Newly selected employees should be given one month training. 

( 1) m::>rr116ll)ro8 CIDCle.161ll1m1wo dhm.Jml mst;Hle.ioc000® cmim&IZloml~ n.J<IDcm1dh6'l§ 

cmmo <ID1m1c006dh. 

(2) @'!I micm1w1ro8 cm©o cm1©1~cm16>1 dh0©6ll)6ml<J5 <TUOWldh©1cB6)6dh. ( crucc&:>mcru : 4) 

17. 63©6 aB<.R><TUom8cBJ~cm 611Joe»16>1 <.R>oruo !2loam~mow L<R>l mowocBJ~~6ll)crn 

12l1cOO a t;HOY'6 o CIDC1 o <J Cl.!') rorn>16'l o'A .!l.J1 e.i .!l.J611l cm e.i tEh u5 6'l cm o ~6 cm o 6> !9 w 6 ~ CIDC1 <TU1 ?J.?o'A "' 

lllOOm~© L<R>,, ©00~L03m n.Jdhmcm6 6'ldh05Jc00006~- mcm61llle.IO L<.R>,, ©OWOdh~~6ll)ITT 

611Joe» l@o'A mlacM::!n.J e.i cM::lc\ o <TU lllo o.!')©1c006 cmcm1m6 oru 6TE1W6 ~ Ln.J ru©cmm m6m3 ~lam 

tEh ls 6 cm ro8 <TUl2l w o 6> .!lJ e.i ru Y'1 c00 o cm <TUo w1d)6) 6 on 6. 

(t'l{j)) <TUone.iosmrorn>16lo'A n(Bcm6 ne.JStEhllloGTI) L<R>i. roowodh~~6ll)crn mru16>s 

ln.JOWO(f)1~1©1c006 cm6>cmon6 <TUl .!l.J1t;H1c006 dh. 

(611J1) mcm612low1 611Jmw6lt;H~ Ln.JLcBJ1ww66>S rulrulw ne.i~6mlu5 Ln.JmJcmooilc006dh. 

( crucc&:>mcru : 5) 

7048 7 P.T.O. 



18. In Krishna Cashews Ltd., the employees are paid wages on the basis of the quantity of 

cashews processed by each one. 

(a) Name the method of wage payment system applied there. 

(b) State any three merits of the system. 

( c) Identify any two types of firms where this is suitable. (Scores: 6) 

19. "Effectiveness of leadership depends upon the qualities of a leader." Explain any four 

qualities of a leader. (Scores : 4) 

20. "Planning and Controlling are inseparable Siamese twins of management." Why? 

(Scores : 4) 

21. Indian money market is a well developed one \Vith the actiw participation of large 

number of financial institutions and the presence of innovative financial instruments. 

(a) N~me any three par,ticipants oflndian money market. 

(b) Name any three innovative financial instruments prevailing in Indian money 

market. (Scores : 6) 

22. The aim of 'marketing' and 'selling' is to maximize profit. Yet they differ in their 

approach. Differentiate between these two by pointing out four differences. (Scores : 4) 

23. In India there are different consumer protection agencies. Name any six of them. 

(Scores: 3) 

24. (a) "No business can run successfully without adequate working capital." By 

highlighting this fact : 

(i) Narrate the significance of adequacy of working capital. 

(ii) Identify the important factors influencing working capital of a firm.(Scores : 8) 

OR 
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18. 63:JCB(!l::) 6lCID::>!91e.J::>~1<D>6o cruocruc!Mflaj cfhOOJOJ6ra1<D>66lS CIDl.OOo (ID()ffiJCTUa>1aj::>m5' 

cfh~cil'.16m::> cfh::>~~l e.i11211gn.D nmcm cfhm.Jm1<D>1ro8 cfhle.Jl mro8cfhJcmro). 

(n@) mru16lS (ID()ffiJOJ<8rom>1.00Jcm QOJCIDm ru1CID©6m ©ianl nfilro) ? 

( mfl) mm © ianl<D>J 6l s 12ll cm 6 (/) 6 6m6m u3 Lo..m:Uan::> rul.oo 6 cfh. 

( m.>1) mm ©ianl<rlJ.00 (ID()ffiJCB<D>::>m~l2l::><D> ©6raJ CTUD::>nJmGmCJ3 cfh6)6raroYmJcfh. ( cruc.a. :>@ m) : 6) 

21. W::>©::>~o wmcfh::>©~ OU.O::>nJmGm~J6lS nJB:h::>~lmm>ruJo mruim wmcfh::>©.,\ LnJl2l::>6m-

6m~66lS cru::>cmloo~ruJo6lcfh::>~ rulcfhcrulaj 63cm::>m> mom~crn wmrulnJ6ml 

(n©) mom~crn wmrulru6ml<D>16le.i n4}6lCIDB:hle.JJo 12llcm6 nJB:h::>~lcfh~J6lS CBnJ6l©!PJCIDJcfh. 

(mJl) mom~crn wmrulnJ6m1<D>1ro8 cfhfirnJOJ©Jcm 12llcm6 mlanm wmcfh::>©c\ LnJl2l::>6mGmu3 

n4}6lCIDcmJ CB©6U6l~S6roYm6cfh. ( cruc.a.:>@m) : 6) 

22. (ID()CBGm<D>go e.J::>©o CBffiSJcfh n@cmCID::>ml rulo..J6mmrom>16>o'A<D>6o ru1ro8~m<D>J6>S~J :::i 

LnJW::>m e.J<M1~o. nmcm::>roS mm) ©6ra16>o'A<D>Jo cru121io..JmGmu3 OJ.,\CID~aUCIDl2l:Jml. 

nfil6lCIDe:h1e.JJo m::>e.JJ Ql~CID.,\:JCTU61IDCJ3 CB(!)6U6)~5Jmm>1 mru ©6ra16>ffi<D>Jo CBOJ<8CID1©1.00Jcfh. 

( cruc.a.:>mcru : 4) 

23. mom~<D>1ro8 ~nJCB©:JdKO'>~ CTU0(!)<£M16mmm>lm W::>©::>~o 12l:J<8C&Gm~6ri, (ID()roYm©rom>le.J6~ 

n4}6lCIDe:h1e.JJo ~06 12l::><8C&Gmu3 n@!PJCIDJcfh. ( cruc.a.:>mcru : 3) 

24. (n4)) nJ©.,\:JnJCIDl2l::><D> LnJOJ<8rom>m 12lle.Jillffio m'ij::>6>CID 63©J Eil1..11cru1m~1mJo 
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ru1m<D>cfh(!)l2l::><D>1 Lo..Jru<8rorm1.oo::><l3 CTU:JllD.,\12l'ij. mm Lc:i.JcruCID::>rum ~<D><8rom>1-

.00::>6mlajJ6>cfh::>~ : 

(i) nJ©.,\::>nJCIDCZl::><D> Ln.Jru<8rormm 12lJe.JWm<mm16>1 ~OJOO.,\cfhCID6l<n> cfhJOl~ 

LnJCIDlnJ::>Bl.OOJcfh. 

(ii) 63m6 ou.o::>n.Jmmm>16>o'A Ln.Jru<8rormm 12lle.JWm6>mm> crumwiml.ooJcm 

ne.JS cfh61IDCJ3 nfil6>CIDCTn 6 cfh6)6raroYm 6 cfh. ( cruc.a.:>@ m) : 8) 

(QTc)6) ~&b 1aJ3 

9 P.T.O. 



(b) "Management of fixed capital involves allocation of firms capital to different 

long term assets or projects." By highlighting this statement, you are required to: 

(i) Identify and explain the various factors influencing the fixed capital 

requirements of a company, and 

(ii) State the principles to be followed m managing the fixed assets of a 

company. (Scores: 8) 

25. (a) Mr. Mohan Das, the proprietor of Oas Automobiles Ltd. wants to open a branch 

of its business at Nagercoil. He is not aware of any sales promotion measures. 

As a marketing expert, you are requested to narrate him the various objectives 

of sales promotion and the different sales promotion techniques suitable for his 

7048 

business. (Scores : 8) 

OR 

(b) "It is often criticized that ''advertisement is a wasteful activity and an 

unnecessary cost"." You are asked to establish the statement by highlighting the 

various arguments against advertisement. (Scores : 8) 

,.--·· 

10 



(mJl) rru.olm ail~wm aioamd6>ai~" ti©cm<m66>a»ori ~a@CJl>1c006cm® 63<t>J rru.oon.Jm­

mnn16>~ alJ~Wmo ru1oJlill61Jl3§0CD> Bimne..iano~ ~crucm1a»~1~Jo :2lg6 

<ruo<t>©61Jl3§1~6o m1a~n.J1cOOJdb ti©cm<morn). m'!> Ln.JoU<morum dbGTT>d)6)1-

6>~56 <Olm 6 6>db0 ri : 

(i) 63©6 dbm.J0>1CD>J6>5 rru.ol<t> all~CDO><?>lm16>~ ~OJCJl>_\db®6>CDl (T\)JOCD,mlcOOJcm 

ru1ru1w ne..i sa»6TJT3u8 db6>6T8mrn>1 ru1(J1)13 ia»ai1d)6) 6 a». 

(ii) 63<t>J db<Tllm1CD>16>~ rru.olm ~crucmla»C/8 6>6>a»dbo©.\o 6>!l1~Jcm<m1m 

25. (ti©) BOoU ~Q~:l6>Ql06>6>mJ<tl3oU ~1ai1gru) rifilcm CT'U.00n.JO>mlm16>~ ~SQlCD>:lCDl 
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l(J(),. QQlOnOo3BOoU C7JlaQ@nO<l>lm16>~ CT'U.00n.JO>mlm16>~ 63alJ (J1)06lJ 0>0(1)<8QdbOOJ1~1<?J3 

<mJS61Jl3oo3 cm"lmJai:>mlc00Jcm6. ti©cmocoS crma@nr>mnnlm ru1La»<:Dl <ruorum<Wm 

Ln.Jrummnnm6TJT36>§d)6)601.!!l crmo1ru1~. 63©6 ruln.JGTT>mdbom.\ ru1Bcnwo3 n(J)cm 

m1~CD>1m3 rulLanCD> <ruorum<Wm Ln.Jrummnnm6m~J6>S ~a@(J()~dhl:'.l.\6TJT36>~d)6)601.!!l 

crma@rll>mrn>lmJ ru1rum1~6>dbOSJd)6')0o3 <mo&ba~os ~Cll(J1)_\6>c,HS6cm6. crma<mo6>SOc,Ho 

ru1ru1w ruldb<:Dl <ruorum<Wm aioc5<6l6TJT36>~d)6)601~ o crma@rll>6><?>lm am.i:><W .\6>c,HSJ<l>lm1 

6>db056d)6)JOJOo3 ~OJ(J()c\6>c,HSJcm6. ( cruCA::>mcru : 8) 

<mi>liJm.1am 

(m.11) n.J<t><TU.,\o 63©6 n.JOlPQOJ~CDlJo C7Jla0>0QJ(J()c\ 6>.!l.J~OJJal06>Gmcm n.J~a(~:PlPJo 

ru1aim(J()maJJ CD>moo6 ri. n.Ja>cru .,\ mnn16>mcm1moCD> ruol3(/)cm1a»u5 ~<:Dlmmnn1 m'!> 
Ln.JoU®OQJO>(j)(D) <TUOCDldb©1d)6')Jdb. ( crucdb::>mcru : 8) 
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